Combined Graduate Level Examination Tier Il 2022

Roll Number

Candidate Name

Venue Name

Exam Date 03/03/2023

Exam Time 9:00 AM - 12:00 PM
Subject CGLE 2022 Tier Il Paper |
Section : Mathematical Abilities

Ans

Q1 TH Tt & AT, AH 3R TR GIRT I 31 BT UT 2 : 4 : 9 81 TS Ioi=T A whadm
T 30 37 T P &, Y B 3R THT GRT I 3P T 82

X 1. B = 120, I = 180
o 2. B = 60, TR = 135
2 3. B = 90, I = 40

< 4.7 T = 40, I = 90

Ans

Q.2 3 YR A TH gHTT ASTI 70 | TP 7 64% W U fhy iR 434 7l A <t w1 oa
T2 Hal $t &1 FId B

2 1.1680
2. 1550
X 3.1684
X 4.1345

Ans

Q.3 U Y e &1 W ga1gu|

[76 — {90 + 5 x (24 — 36 + 3) +3}]
& 1.4

X 2.755

X 3.775

X 4.715




Q.4 225,000 FI AR W &7 af a1 12 yfowa aifife 2 A THglS st fa ghm, wia s
I =0 A Twgfa saT 82

Ans X 1.%9,824.00
5 2.%10,520.00
o 3.%10,123.20
5 4.%9,956.86

Q5 frafafed sies! &1 uH® faaas g1a ST (S =TT I T% quIiied) |

53,47
Ans 7 1.1.48

X 2.3.21
X 3.245
X 4.412

Q6 A, 7HY5IR TT el @ 3R B, 9 W A 8 IR T Sl 3| 3P 71 Wifdepan ghi 75 @
TP g T B $g1 # TP GO BT WS Bel?
Ans 1

X1 EE
7

X

< X
A~ w r
Wl = D=

Q7 %m;“aﬁwqﬁawﬁ%? ABEl BT TUT 196 : 625 B, A TG YSATSHt BT AT FIT
?

Ans X 1.13:20
X 2.13:25
X 3.14:20
& 4.14:25




Q.8 18 cm & AN ST T TP ST HERT Fd & URT G 31 $H 59 &1 3 cm B
3MX 6 cm TS aTell AeHTPR Sidel d T ST & | TTel @Tell S & forg fopa-t aiael
P TaTAHAT g2

Ans X 1.68
& 2.72
X 3.66
X 4.70

Q.9 3T Y T BT A T BT

jzu‘jzﬁ\fmm

Ans X 1.5
X 22
X 3.6
o 4.4

Q.10 IS A1 i suTial & g1l | Hie T U A ToRdT § 3R 396 ¥ Ud$ AR} 3u_ A1
B U T T b 30% P ATH TR I9aT 31 afe Sifaw st 3 ure BY Rs.300 H =, Y
g AU A 39 foran & @ diar 412

Ans X 1.Rs.137.55 (GTHT)
X 2. Rs.330.55 (TTH)
3. Rs.136.55 (TATHT)
X 4. Rs.240.55 (TTH)

Q.1 T A R R 8 9 A 21% arfifer v @ sifSfa aremur e 31 It =R WR 21
qf & T R A Sifvla WTURYT TS | SrguTa FaT 82

Ans 7 1.8:21
< 2.215
< 3.21:8
< 4.5:21




Q.12 T 19 URT F IR 35 km BT gl 2 6 & 79 Bt 3 3R YRT & wfogpa T0H gt 7 9

T 99 Hdl B | Xid o | 19 B I (km/h F) F1d PiTCI

Ans X 1.10.55

7 2.28.75

X 3.18.25

o 4.11.25

Question ID : 264330121726
Status : Answered
Chosen Option : 4

Q.13 x2 - gx + 15 3R x2 - 5x + 6 BT A.H.Y(LCM)

Ans

X1 (x=-62(x+1)(x-3)
X 2.(x+6)(x+1)(x-3)
2 3. (x-6) (x+1)(x-3)
& 4 (x-2) (x-3) (x-5)

Question ID : 26433090279
Status : Answered
Chosen Option : 4

Q.14 TF ¥F A 3 57d< A 3R B IS §U R A 3R B TF B HURT: 32 h 3R 28 h F W THd &1
gfe ST TgUl B A | I B §¢, TH-TR W, 1 h F e @ o 8, @ & fan

Ty (vl ¥, Fepean quife) ¥ wR wmem?

Ans X 1.36
K222
K 3.24
« 4.30
Question ID : 264330122817
Status : Answered
Chosen Option : 4
Q.15 .
TSP (1 +x)(1+x)(A +x)(1 +x8)(1 —x) F WA HISTI
Ans x 1. 1_— x42
xX31—x3
&4 1— x40

Question ID : 26433074496
Status : Answered
Chosen Option : 2




Ans

X 1.42.65%
 2.45.88%
X 3.35.28%
X 4.40.25%

Q.16 gmmia'rﬁmquanén%, 18% 3R 25% P! HIA® e fF¥ tora ge & aaga
?

Question ID : 264330121709
Status : Answered
Chosen Option : 2

Ans

Q.17 fufafld demnsi @ afere il

32, 25,33,27, 35, 29 (¥ 30

X 1.29
X 2.27
 3.30
X 4.32

Question ID : 264330126393
Status : Answered
Chosen Option : 3

Ans

Q.18 a1 & Uy
EIECRED

& 1.74
X 2.80
X 3.76
X 4.55

gfifa 3k $o Toikai §1 afe wHaR) F RRY &Y ga = 100 @ 3R
[ 1 $o U= 348 B, A a1 & IR Fo fpa-it gwiar 82

Question ID : 264330121744
Status : Answered
Chosen Option : 1

Ans

(ETTEE F & VI 7 Hg) S 8)7
& 1.32.22
X 2.30.22
X 3.31.24
X 4.34.44

Q.19 20 @AY BT 3T 32 21 TS QY TBATE 29 3R 31 T, A AW JEAT3H BT NFAT AT R

Question ID : 26433073076
Status : Answered
Chosen Option : 1




Q.20 il el & & Tod g3 &1 99+ FiRvm|
Ans w1 sec? B+cos2B =1

X2 sec? B—tan?B =1

X3 cosec? B—cot?8 =1

X4 sin? B+cos?0 =1

Question ID : 264330126432
Status : Answered
Chosen Option : 1

Q21 ABCD s =y agelsr ¢ 3R BC Hafa ga &1 eamw g o o A 3R
D s feurg &1 «.BCA = 19° 3T LCAD = 32° &| ~ACD &1 AT AT &I
Ans X 1.41°
o 2.39°
< 3.40°
X 4.38°

Question ID : 264330122883
Status : Answered
Chosen Option : 1

Q.22 g TP W9 IgYS BT IIeHIVN 18° B, Al 39 gy W sl ot iwen ar gift?
Ans X 1.150

& 2.170

< 3.180
X 4.140

Question ID : 264330121662
Status : Answered
Chosen Option : 2

Q.23 17.75 m 4 TP A1 @S WH & ¢ F, T e @St TR F = &1 S50 Hior 60° UTI
gfe MAR 57.75 m St A, @GR & YR F WHAR P71 MUR fFa=t g8t (m H) W 412

Ans 7 7

Question ID : 264330122894
Status : Answered
Chosen Option : 3




Q.24 @I 2918245 Frufif@d § & vy den & Ry 22
Ans X 1.12

X209

& 3. 11
X 4.3

Question ID : 264330126417
Status : Answered
Chosen Option : 3

Q.25 [T, feA=T 3R TAR 3 : 6 : 8 F U A YRR HT I HYP TP AT | AIHGR
Td g1 °fe 39 3= & HURT: 5%, 15% 3R 20% $1 g B Wt 8, ) v 9¥ & forw
I9F ATY BT ST T 8 T2

Ans X' 1.3546:64
K 2. 7:46:64
o 3.21:46:64
< 4.19:46:64

Question ID : 264330121716
Status : Answered
Chosen Option : 3

Q.26 T fiRTfrs o1 Syl giia &we Fa1 § Rt YR 8 cm Y a1e U a4 & ok
ﬁ?’lﬁgaﬁiﬁlﬁ3cm%?

Ans X 1169 cm?
7 2.121 cm?
< 3.184 cm?
o 4. 144 cm?

Question ID : 264330121659
Status : Answered
Chosen Option : 4

Q.27 i sufdral & oird aoi= # 99 4 kg B gfS BN 8, 919 S8 A U e, Ryt ao=
100 kg §, B g aafe gR1 fawatfua far simar 81 ¢ safeq &1 ao= |1 82

Ans X 1.103kg
2. 112kg
% 3.107 kg
X 4.104 kg

Question ID : 26433058126
Status : Answered
Chosen Option : 2




Q.28 3 kg TATAA BT Yed 180 B | 8 kg ATAA BT Hed 5 kg A b YT & SRR &1 15 kg T BT
T 2 kg T & G & TG 81 3 kg TT9 BT o4 6 kg TR F God & SRR 8110 kg
SRR BT HeU (2 W) FTR?

Ans X 1.3200

% 2.2800
« 3.3600

X 4.2400

Question ID : 264330121746
Status : Answered
Chosen Option : 3

Q.29 TP Qs 96 IR TP FURT P MUK A 70 m B g8 U= Iqd =M &1 3791 HY7 60° Urdm
AT @ | SHIR B HETs JId i

A x 1. 603 m
v 2703 m
x3.500/3 m
x 4. 7002 m

Question ID : 264330126425
Status : Answered
Chosen Option : 2

Q.30 TH HU B ASTS b’ IAP! HaATs B QAL 3R IAP da1g 31 31eht ¥l FOR F T da
fawuf &1 T w9 BifEl

Ans x 1 Ji9b
2
x2 2
2
3 V2ib
2
X 4 VZob
2

Question ID : 26433058918
Status : Answered
Chosen Option : 3

Section : Reasoning and General Intelligence




Q.1 39 e o199 =3, Rrad g sl afdfea 1 (guf & srgafa 78 @)

Ans \

x 2.

A

Question ID : 264330121392
Status : Answered
Chosen Option : 4




Q.2 ﬁ@u&rﬁ'ﬂTW%WmﬁEuﬂNﬁ?llmm%lﬁﬁﬁﬂﬁﬂﬁmﬁ@ﬂ?qﬁ
T BT 6 789 & B 1 HYUH, U BT IR ¢4 & fore wafw 21
wgﬁ%ﬁg; C, D, E 3R F T Weh U & SR 91 3R 3R g1ex 33 ¥ D » &
|
AR S PN F ORI UARIBIZIANRBF T Faa AR IS B E,
ok i s 1o L
(I1) ¢ U & ¢ BR A TR RIM R IST 81 C 3R F & §° Had ¢ ART BT 21 E, F
& g IR T WA W IBT 81

Ans X 1. %YT | BT 3T 3fBd U BT IR o7 & 018 YA § Siaies Hu || BT Sl uafed 81 71
2. B | 3R 11 F e firaa it uy &1 IR S & fore vaf T8 7
2< 3. Y || BT 3T 3B UY BT ITR 1 & fo1Y YTt § Safes B | BT el Ui -Te] g
X 4. DUT1 3R 1| H IeT Fdd U8 BT IR 1 & forg 7o g

Question ID : 264330121436
Status : Answered
Chosen Option : 4

Q.3 Tfg +P13f - 8, - 1 31 x B, x P71 31 + §, 3R + &1 3rf + B, A Qe aive #1891
T g2
45x9+12-5+3

Ans 7 1.62
< 2.36
< 3.34
X427

Question ID : 26433076710
Status : Answered
Chosen Option : 1

Q4 fafafad % QS I AHeR-TE B, # 3R % B UfawTid HIT AT a1 = & 18 3
%a&n;qgw%ﬂamaﬁaﬁ?ﬁﬁﬁwﬁéﬁmﬁ?::%sar{ahﬁ?ar&w-w
P12
;IWCLQ NDK: %

Ans X 1.#=EIT, %= QBN
X 2.#=AJS, % = MAM
X 3.#=DIS, % = PBN
& 4.#=A00, % = PAM

Question ID : 264330121406
Status : Answered
Chosen Option : 4

Q5 gmﬁwﬁﬁﬁﬁmgﬁmﬁmmﬁwﬁgmﬁMW
I
189, 532, 316, ?, 377
Ans X 1.405

X 2.291
X 3.384
4. 441

Question ID : 26433074539
Status : Answered
Chosen Option : 4




Q.6 I # 3R AP AN B T ufT &, AT R SR AT WA R B @A sR I
159 VI R 21 HfHa, i ok anfecy & SYe It # 21 afe snfew ufed & sl SR A oo
RIF R 2, 9 Ui A s e 82

Ans X 1.32
% 2.29

 3.30
X 4.31

Question ID : 264330121143
Status : Answered
Chosen Option : 3

Q7 &:fFJ, K LM N3RO mﬁﬂ%ﬁﬂ%ﬁaﬁa&\r RS ISTINMSF
SF TA AT BT M, J P St a8 SoT 21 J, L%Wﬂm%vﬁﬁ?ﬁiaﬁmm
FBTRI L & 18 3R g RIM R B 3182

Ans 7 1.N
KX 2M
< 3K
X 4.0

Question ID : 26433081999
Status : Answered
Chosen Option : 1

Q8 A#B HTATR'A BT wn’s"'%'l
'‘A@B FTAYZ'A, B H gaﬁ%'l
'‘AB HTAE'A BIHTUATI
'A% B' BT 3§ 'A, BHI U '
IfRD@N@H&Y@F % Vg, @V, HY 5y vy walta 82

Ans X' 1. TG
X 2. qremht
< 3. foar

o 4.9

Question ID : 264330126288
Status : Answered
Chosen Option : 4




Q.9 m%ﬁﬁamﬁﬁﬁﬁﬁmﬁmqmﬁwmﬁmwm%lmmmﬂ
=TT |

Ans

22

= (=30

Question ID : 264330128890
Status : Answered
Chosen Option : 4




Q.10 9 HY 3R I q1¢ Gl frewd i | 3R

Ans

I =0 A F1d 7] ¥ i udia g 8, fofa o fob o

mmmmm?r%/%l

wﬁamth%%l

I NS fEe &

Tt faeA siere &1
frremd

1, Tt R & i €9 it W 21
Il. TO °IS JeT g1

2 1. d e | a7 1) SR AR B

X 2. Fad Y | SR AT B

X 3. T e | 3R 7 & e 11 SR FHRaT B
4. T | IR 11 S &) SifeRu avd §

||1%.q g1 Y= ®) I A g, vA 1
1A fred aifde U A

=g

Question ID : 26433069186
Status : Answered
Chosen Option : 4

Q.1

Ans

T UY H Uh YT & 91 ol PRarsyl AP | 3R 11 7S §1 3yt Hy= | <1 1 it

a1l B

T AT & 3R YT # &) 7 SHaRI & YR TR I8 99 H1 ¢ & pi-at
PAE/BIAEyl $I & 1Y aifbe U & oo &3dt 721

FY: TSt & F yrfion & warw # w3 §¥ ], P IR-OR Bad We g A 3%

forita qaEIail T |HAT 31 U BT

PRATEN:
1. ITOT Y I Tl H 39 BT Uk debeds Hid UG [paT ST I1eT difep d ael T2 |
I1. 7% 4RI B G B & forg, fawnfua ardfon & wred & & smare & Jft

faeedl 9 vga e $1 ot Tileel
o 1. A | SFTERU 1§

X 2.7 TE N SR BT B
2< 3.1 3R 11 ST SRR R &
X 4. %ad || 3TERU HRAT &

Question ID : 264330123208
Status : Answered
Chosen Option : 3




Q.12 @aﬁv@ﬁasﬁﬁﬁﬁﬁmmm#wm%mwmélmmmw
|

X Q| |0 X (o] Xl X
X o XX o] Q X

Ans

O

Question ID : 264330128896

Status : Answered

Chosen Option : 3




Q3 T wrRFR I RIRT T A T F R T aE T W & W
AT T @ A oA § e 9de g @, a7 w0 B R v aeeet § @ #E W w s
FUF FT ANRF T HFEOT FAT ¢/ g

HUA:

F soe # Heru F HeOow I9Ee w6 # F B A S w1 g i §, wwet # e
HY | e § R TR 3 geg guen #§ v W= §, Gew wee & e g i g | g

AT
. & 3ees & Frearwwr F1 scater FIAe Fa S e F B seor a4
II. F Seaew F FeaAmm F HeAUF F9AET F ¥ F W I IHE 95 Tl ¢

Ans

X 1. SaE | 3TTETT AT &

X 2 A || HTHIUT T §

Ko T | 3R T E N FTEOT FAT &
v | 31, gt srgaver e §

Question ID : 264330128901
Status : Answered
Chosen Option : 1

Q.14 A UY N, FYF & q1¢ o by feu MU &1 ST # A F1=-914 frepd I 8787
PYT:A=B2CSD>G<E<F
frep:
I.LB>F
II.C<A

Ans X 1. %ad Fsh 1| T B
X 2. Hdq Y | TI B
X 3. fpy | R 11 S I B
& 4. TA Y | RTT ITT B

Question ID : 26433069223
Status : Answered
Chosen Option : 4

Q.15 TfordY Rgl & 39 T ala &1 999 33, O far e g § * gl & wA R
HiP TT A 7@ TH IR GHISRT dgfd g\
33*4*15*3%61=188
Ans X 1. +x+-
q#?2_><—++
K3_+—+x

Ka +x—+

Question ID : 26433068106
Status : Answered
Chosen Option : 2




Q.16

Ans

wwmmmmmﬁwgﬂ%ﬁwwmﬁm%mm
Frafalaa ag=g @ Tent smuw # Wit ¢

(FiYe: TEmait &Y 3P T il | fyunfora fpe famm, gof semsit w nftrdt wfteang #t
ST TR | IETERUI F 1T 13 - T 13 WR MK Jifsrang SR fa st / gerr/ qon
Wajﬂ%aﬁn%mmm%l13ﬁ1aﬁvaﬁ?h3maﬁvﬁﬂ1sﬁ?3wnﬁrcﬁu
Wipard S FI gl T ?)

(7, 3, 43)

(5,2, 21)

X 1.(12,3,43)

# 2.(15,6,34)

X 3.(13,23,131)

& 4. (115111)

Question ID : 264330126249
Status : Answered
Chosen Option : 4

Q17

Ans

2 T Uy 3R SHP 91 &1 Y HHIP (1) 3N (1) foT T &1 3Pt gg FA HI R
HYAT | faT T STET UY BT I7R &7 P e vaiw @ ar 78| SN SYUAT BT reaae Sifere
3R UGS SR BT TG B

g;r_:r%, B, C 3R D U% JUTPR AW & URd: % B 3R T& $Ib 93 &1 A P 31P ¢ S
?

DY
() C, AP &P I1¢ 3T §; C 3R D & &9 A Fad U fad a1 81
() A 3R B F &9 § $aa T AR 33T 8; C, B P SIP S daT 2l
X 1. YA | T o T STeT Sidhdl Uy T IR o & fore vl B SiEfds s 1V H e ma
STCT % BT ITR & I o Taifed Tef §
2 2. YA | 3R 11 S B foram T STet firdes Uy o1 SR 34 o forg vl §

3. 1A By | T T T STeT 3ihd a1 By 1| H 1A STeT 3ihd Uy BT IR o &
fere wafe 8

X 4. YA || T T TTT STeT Sihd Uy T IR & S Tod Ui § Saf oy | 7 fean mar
STeT U% 1 IR & & forg vafe T8 §

Question ID : 264330121196
Status : Answered
Chosen Option : 3

Q.18 u® fAf¥a Be UTaT #, 'CROSS" T *66' @1 wiTaT & SR 'CHART F1 *90" fr@ W 21

Ans

It YT & 'sYMBOL' &Y S ferar sme?
& 1.82
X 2.93
X 3.76
X 4.88

Question ID : 264330126267
Status : Answered
Chosen Option : 1




Q.19 3rpfa A Te ff¥a e & engpfa B & Wafta g1 S U 31 srgemor vea
3THfa D A Heftra 81 U= &7 3reag= PR 3R 39 i &1 9g P

Ans

R W ¥ ST 1|
f &
¢ |o| o
5 v =
(A) B)
q d
&1 :
4 d
X2 *
< D
X3 *
>
< D
xa| X
D

L2 ]
L L]

FAN

(©

B
?

1)

Question ID : 264330121472
Status : Answered
Chosen Option : 1




Q.20 A T FSA F TH TS F AlSS H FA AN AT gC FOSA H e
F1 afier g T g e aw feedt § ¥ 3 ampfa 99 S Fee &
qﬁg&rmﬁmﬁmm—gﬂﬁra’n

- -

_______ J

i |

- 77
b N
B
N &
<3 E;L'dﬂ
N, &
RS
I

Question ID : 264330126304
Status : Answered
Chosen Option : 2

Q.21 3T 7T S &R & fore v e Ay 91 78 81 37 Semsi @1 Fmfafad R swfaa
H T A § I fabeu &1 9u SN &t v Qe Weg 41 G B
E=1,N=2,T=3,8=4,T=5D=6U=7

Ans X 1.2143675
X 2.2146357
 3.4376,125
X 4.4371652

Question ID : 264330121089
Status : Answered
Chosen Option : 3




Q.22 ts fAf3a e #, COMPAQ Xt F! DQNRBS & = H forar ot § 3k SONY & TQOA
F = ¥ forer wirar 81 33 T ¥ MOTOROLA &Y 3 frar wirar 872

Ans X 1.NPUPSPMB
«” 2. NQUQSQMC
/< 3. OPUPUPIB
#< 4. INUNSNMB

Question ID : 26433078843
Status : Answered
Chosen Option : 2

Q.23 ﬁqwmwﬁwﬁwmwwwmm(mmmaﬁm%
| U HOIT-g F! Blesd? AW o wer-grt o gar wfthan(si) &1 uraH farar siar @1
98 fauw Sen-gw Ja #¥|

Ans X' 1.2:9
& 2.8:29
X 3.10:33
X 4.6:21

Question ID : 264330126255
Status : Answered
Chosen Option : 2

Q.24 SHUY H & HUT 1 3R 11 F3T Y 1 A HYH Tasl PRI G Fhd @ T Tl BN a1 T
IUFE HRUT F TUTT B Thd & | TP HYH, AR HYH T YHTG &1 THal 1 gl Syl
P Ui 3R T IR &1 794 FIE|
1. 3 X 7 frod 5 96t A 3uA F= a0 & AT A 6% B HH F 1
1. 3= X  SfeIHaTsd IR A 39 a¥ 3= e wifel & 13% &1 dig fRmae & 21

Ans o 1.1 3R || T WA PRI P GHTE §
X 2. | HRUTE 3R || 3THT FHIAT THTT &
7€ 3.1 3R 1| G WA HRUTE
X 4.1 BRUE 3R | ST GHIId THTT &

Question ID : 264330121454
Status : Answered
Chosen Option : 4

Q.25 I faped o1 Ig= B St 37 &R} 1 gfafifiea wwar g, fore fuferfad e - &

1T A ST T M TR SHER-4Fam gt gt oty
_VJRWB__RWBVL__BV__W

Ans X 1.BWKRWMR
KX 2AVKRWMR
/A 3.AWKRXNR
« 4 BVKRWMR

Question ID : 264330126277
Status : Answered
Chosen Option : 4




Ans

ozsmﬁ@awmﬂqmmﬁquwm%mwww fmfor
YA §1 D11 g 39 WS A WAaifra T8 872 (e B 3FIeft Rred) & =7 | AT
ST 1R 3R g § &R P HEAT/ o] / TR) BT T P YR W 3¢ YIS 781

fovar s =nfw)

1. o
< 2. ot
X 3. %@S
X 4 wgd

Question ID : 26433065634
Status : Answered
Chosen Option : 2

Ans

Q27 R 7T Reredt # ¥ 37 AWHT F 9T FU S HEAORT gEer &
g e () Fr gforaRa FT ot 2

Tﬁr*\i?l_ﬁ

7 4 /

Question ID : 264330101259
Status : Answered
Chosen Option : 4




Q.28 A#B BTATT'A BRTHE '
‘A@B BT A, BII TR
‘A&B BTASE'A BIRTUARI
'A% B BTS2 A, B P U &'
ES%UD#F@G&H@J T, dF, H A 5T yoR Tafta g2

Ans X 1.9
V2.3
X 3. gAY
X 4GB

Question ID : 264330126293
Status : Answered
Chosen Option : 2

Q2 g ZHor F B F HTEX PQ W M AT & @ BT 710w &
Zaur F AffT i vfafe m=fma S

P
ad2niCvh6iovr |
Q

A" X1 AAQI9YADIUZpE
x 2 9qSUICAPRIOAL
v 2 1v0iardvdinSbs
x4+ ad2niCvh6iOvr

Q.30 fymedi & ¥ 37 W F TAF HAC, S v W F wafEd (7) F oUW 0 WS deF F O w0

I

Ans




Section : English Language and Comprehension

Q.1 Select the option that expresses the given sentence in passive voice.
Marvel Comics created Superman.

Ans X 1.Superman is created by Marvel Comics.
& 2. Marvel Comics is creating Superman.
#5 3. Superman was created.

«” 4. Superman was created by Marvel Comics.

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

Photographers who follow celebrities to get their pictures to sell them
Ans 7 1. Paparazzi
5 2. Reporter
< 3. Editor

& 4. Interviewer

Q.3 Select the option that expresses the given sentence in passive voice.
The mistress appointed him monitor.

Ans X 1. He appointed mistress as monitor.
#5 2. He had been appointed as monitor.
< 3. Monitor had been appointed as mistress.

«” 4. He was appointed monitor by the mistress:

Q.4 Select the most appropriate option to replace the underlined word in the given
sentence.
Hritik is slow than Heer.

Ans X 1. much slow

o 2. slower
< 3. slowest
X 4. slowliest




Q.5 Select the most appropriate meaning of the highlighted idiom.
It was a Catch 22 situation for the manager.

Ans & 1. Adifficult situation in which the solution to a problem is impossible
/% 2. Hailed as the ultimate champion
#5 3. Worthy successor to the throne

5 4. A positive outcome in a tough situation

Question ID : 264330120742
Status : Answered
Chosen Option : 1

Q.6 Identify the option that arranges the given parts in the correct order to form a
meaningful paragraph.

A. Then a nurse and a doctor came

B. After the terrible accident

C. A car took Raman to the hospital

D. The two men carried him to a bed and put him in it carefully

Ans X 1.ACDB
X 2.DCBA
« 3.BCDA
X 4.ABCD

Question ID : 26433072688
Status : Answered
Chosen Option : 3

Q.7 Identify the pair of synonyms from the underlined words in the given sentence.
It was a fairly foul day , as omens could be seen in abundance from the threshold of
his border town ever since the dawn struck.

Ans X 1. fairly, abundance
o 2. threshold, dawn
#5 3. day, border

/5 4. foul, omens

Question ID : 264330121033
Status : Answered
Chosen Option : 2




Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. On the afternoon of that eventful day, | stood on the porch, dumb, expectant and
guessed vaguely from my mother's signs and from the hurrying to and fro in the
house that something unusual was about to happen, so | went to the door and waited
on the steps.
B. | did not know what the future held of marvel or surprise for me and anger and
bitterness had preyed upon me continually for weeks and a deep languor had
succeeded this passionate struggle.
C. The most important day | remember in all my life is the one on which my teacher,
Anne Mansfield Sullivan, came to me and | am filled with wonder when | consider the
immeasurable contrasts between the two lives which it connects and it was the third
of March, 1887, three months before | was seven years old.
D. The afternoon sun penetrated the mass of honeysuckle that covered the porch, and
fell on my upturned face and my fingers lingered almost unconsciously on the familiar
leaves and blossoms which had just come forth to greet the sweet southern spring.

Ans 7 1.CADB
X 2.CBAD
< 3.CDAB
X 4.DABC

Question ID : 26433060488
Status : Answered
Chosen Option : 1

Q.9 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Dan needed help / to get the / tight coat of him.
Ans X 1.togetthe
£5 2. No error
o 3. tight coat of him
% 4. Dan needed help

Question ID : 26433061474
Status : Answered
Chosen Option : 3

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
We should sorted out / the problem ourselves / rather than depending / on the third

party.
Ans & 1. We should sorted out

5 2. rather than depending
#5 3. on the third party

5 4. the problem ourselves

Question ID : 264330123921
Status : Answered
Chosen Option : 1




Q.1

Ans

Select the most appropriate synonym of the word given in brackets to fill in the blank.
The doctor has (advised) medicine for the treatment of the disease.

25 1. proscribed
< 2. presented
X 3. prevented
«” 4. prescribed

Question ID : 264330123047

Status : Answered

Chosen Option : 4

Q.12 Select the most appropriate option to fill in the blank.

Ans

Many students do not attention in botany class.
5 1. drive

& 2. trace
2 3. exhibit

o 4. pay

Question ID : 26433058505

Status : Answered

Chosen Option : 4

Q.13 Select the option that expresses the given sentence in direct speech.

Ans

Hira inquired how | was doing being all alone in my house.
25 1. Hira said to me, “How you are doing being all alone in yourhouse?”

#5 2. Hira said to me, “How are you doing being all alone in‘my house.”
< 3. Hira said to me, “Are you doing fine being all alone in your house.”

o 4. Hira said to me, “How are you doing being all‘alone inyour house?”

Question ID : 26433059502

Status : Answered

Chosen Option : 4

Q.14 Select the most appropriate ANTONYM of the underlined word.

Ans

The reputed officer was removed from his post as he was having a clandestine affair.
25 1. Surreptitious

X 2. Casual
o 3. Overt
5 4. Amorous

Question ID : 26433070538

Status : Answered

Chosen Option : 3




Q.15 Select the most appropriate option to fill in the blank.

Tia wanted a dog that was than Larry’s dog.
Ans X 1.smartest and strongest

25 2. smart and strong
#5 3. smarty and strong

o 4. smarter and stronger

Question ID : 26433061503
Status : Answered
Chosen Option : 4

Q.16 Select the INCORRECTLY spelt word.
Ans X 1.Groan

/5 2. Greave
«” 3. Guarentee
& 4. Gravely

Question ID : 26433060478
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate option to fill in the blank.
The management wants to restrictions at the workplace.

Ans X 1.encourage
«” 2. impose
< 3. settle
£ 4. break

Question ID : 26433058503
Status : Answered
Chosen Option : 2

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.
Someone who is reserved and shy.

Ans X 1.Chauffeur
#5 2. Extrovert
2 3. Talkative
o 4. Introvert

Question ID : 26433060823
Status : Answered
Chosen Option : 4




Q.19 Select the sentence that contains no spelling errors.
Ans X 1. The granduer of the ancient Roman Empire is visible in many monuments in Italy and
Greece.
«” 2. The grandeur of the ancient Roman Empire is visible in many monuments in Italy and
Greece.
#5 3. The granduor of the ancient Roman Empire is visible in many monuments in Italy and
Greece.
5 4. The grandour of the ancient Roman Empire is visible in many monumants in Italy and
Greece.

Question ID : 26433070689
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate ANTONYM of the underlined word.

The placid conversation between the two cricketers on a TV show aroused much
controversy.

Ans 2 1. Inappropriate
#< 2. Informal
£ 3. Sardonic

o« 4. Angry

Question ID : 26433070533
Status : Answered
Chosen Option : 4

Q.21 Select the option that expresses the given sentence in active voice.
The canons are being fired continuously by them.

Ans X 1. They fired canons continuously.
«” 2. They are firing the canons continuously.
#5 3. The canons fire continuously.

#% 4. They have fired the canons continuously.

Question ID : 26433058535
Status : Answered
Chosen Option : 2

Q.22 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. She shot the movie on the widest canvas possible using the same kind of
equipment that captured Star Wars landscapes, and applied a muted colour grading to
every frame.
B.She said last year that she wanted the ensemble film to look like “a faded postcard”.
C.Polley lends the central conversation a visual gravitas normally reserved for epics.
D.Women Talking, adapted by the writer-director Sarah Polley from Miriam Toews’s
2018 novel, is vibrant cinema.

Ans 7 1. DCAB
/< 2. DBCA
#< 3.DABC
#< 4.CABD

Question ID : 264330122797
Status : Answered
Chosen Option : 1




Q.23 Given below are four jumbled sentences. Select the option that gives their correct
logical sequence.
A. When faced with uncertainty, humans look out for the action of others and become
a victim of ineffective rational thinking during compelling, confusing situations.
B. According to him, in an emergency, we tend to forget that everybody else observing
the event is also likely to be looking out for social evidence.
C. Robert B. Cialdini explains this reaction with a psychological phenomenon called
'pluralistic ignorance’.
D. Since we all prefer to appear poised and unflustered among others, we are likely to
search for answers placidly, with brief, camouflaged glances at those around us.

Ans X 1.BCDA
X 2. ABCD
« 3. ACBD
X 4. ABDC

Question ID : 264330120998
Status : Answered
Chosen Option : 3

Q.24 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.Road accidents have become very common in India.
B.Condition of roads in India is pathetic.

C.Increasing number of vehicles leave little space on roads.
D.Roads are narrow and remain congested most of the time.

Ans X 1.CDBA
X 2.ACBD
< 3.BCDA
« 4.BDCA

Question ID : 26433070564
Status : Answered
Chosen Option : 2

Q.25 Select the option that expresses the given sentence in reported speech.
Joey said to the girl, “How are you doing?”

Ans 1. Joey asked the girl howShe was doing.
5 2. Joey asked the girl that how was she doing.
< 3. Joey asked the girl if she was doing fine.

£ 4. Joey asked the girl how was she doing.

Question ID : 26433059497
Status : Answered
Chosen Option : 1




Ans

A.The temperature of the world has increased, resulting in global warming.
B.The melting of the ice caps will increase the sea level, thereby drowning many
islands and coastal regions.
C.The increased amount of carbon emission is considered as the reason behind global
warming.

D.The increase in the global temperature is melting the polar ice caps.

< 1.BADC
< 2. ACBD
« 3. ACDB
< 4.ABCD

Q.26 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

Question ID : 26433072379
Status : Answered
Chosen Option : 3

Ans

Q.27 Select the correct homonym from the given options to fill in the blank.
The wind so powerfully that the door closed.

” 1. blew
% 2. blow
< 3. blues
X 4. blue

Question ID : 264330120789
Status : Answered
Chosen Option : 1

Ans

Q.28 Select the option that expresses the given sentence in indirect speech.

“So help me heaven!”, the man cried, “I shall never lie again.”

«” 1. The man called upon heaven to witness his resolve that he would never lie again.

£% 2. The man cries out to heaven to help him not to lie again ever.

2% 3. The man requested heaven to help him'and see that he lie again.

5 4. The man called heaven and ordered to help him and see to it that she never lies

again.

Question ID : 26433065171
Status : Answered
Chosen Option : 1

Q.29

Ans

Select the most appropriate meaning of the highlighted idiom.
The team members seem to be running around in circles.

«” 1. To be very active but with few results
#5 2. Very dynamic and hardworking
2% 3. Hardly any time to breathe

#5 4. To be extremely successful

Question ID : 264330120745
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effects of plastic bags on the environment are really (1) devastating because
there is no disposal method that will really help eliminate the problem. The biggest problem
with them is that once they have been (2) , they end up In the trash, which then ends
up in the landfill or is burned. The indefinite period of time that it takes for the average plastic
bag to break (3) can be literally hundreds of years. Throughout the world, plastic bags
are responsible for suffocation and deaths of woodland animals as well as (4) soil
nutrients. The land litter that is made up of plastic bags has the potential to kill over and over
again. It has been estimated that one bag has the potential to inadvertently kill one animal per
every three months due to unintentional digestion or inhalation. There are always alternatives
to plastic bags and the search for more alternatives continues.

SubQuestion No : 30
Q.30 Select the most appropriate option to fill in blank number 1.
Ans X 1.randomly
X 2. vaguely
«” 3. quite
X 4. seldom

Question ID : 264330128955
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effects of plastic bags on the environment are really (1) devastating because
there is no disposal method that will really help eliminate the problem. The biggest problem
with them is that once they have been (2) , they end up In the trash, which then ends
up in the landfill or is burned. The indefinite period of time that it takes for the average plastic
bag to break (3) can be literally hundreds of years. Throughout the world, plastic bags
are responsible for suffocation and deaths of woodland animals as well as (4) soil
nutrients. The land litter that is made up of plastic bags has the potential to kill over and over
again. It has been estimated that one bag has the potential to inadvertently kill one animal per
every three months due to unintentional digestion or inhalation. There are always alternatives
to plastic bags and the search for more alternatives continues.

SubQuestion No : 31
Q.31 Select the most appropriate option to fill in blank number 2.
Ans X 1.recycled

o 2. soiled
X 3. disinfected
25 4. moulded

Question ID : 264330128956
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effects of plastic bags on the environment are really (1) devastating because
there is no disposal method that will really help eliminate the problem. The biggest problem
with them is that once they have been (2) , they end up In the trash, which then ends
up in the landfill or is burned. The indefinite period of time that it takes for the average plastic
bag to break (3) can be literally hundreds of years. Throughout the world, plastic bags
are responsible for suffocation and deaths of woodland animals as well as (4) soil
nutrients. The land litter that is made up of plastic bags has the potential to kill over and over
again. It has been estimated that one bag has the potential to inadvertently kill one animal per
every three months due to unintentional digestion or inhalation. There are always alternatives
to plastic bags and the search for more alternatives continues.

SubQuestion No : 32
Q.32 Select the most appropriate option to fill in blank number 3.
Ans 7 1.down

< 2. through
& 3. out
X 4. even

Question ID : 264330128957
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effects of plastic bags on the environment are really (1) devastating because
there is no disposal method that will really help eliminate the problem. The biggest problem
with them is that once they have been (2) , they end up In the trash, which then ends
up in the landfill or is burned. The indefinite period of time that it takes for the average plastic
bag to break (3) can be literally hundreds of years. Throughout the world, plastic bags
are responsible for suffocation and deaths of woodland animals as well as (4) soil
nutrients. The land litter that is made up of plastic bags has the potential to kill over and over
again. It has been estimated that one bag has the potential to inadvertently kill one animal per
every three months due to unintentional digestion or inhalation. There are always alternatives
to plastic bags and the search for more alternatives continues.

SubQuestion No : 33
Q.33 Select the most appropriate option to fill in blank number 4.
Ans X 1. converting

< 2. accumulating
3. inhibiting
5 4. demanding

Question ID : 264330128958
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions given after it.

Total area sown under Rabi crops has increased by 3.25% from 697.98 lakh hectares in
2021-22 to 720.68 lakh hectares in 2022-23. This is 22.71 lakh hectares more this year
compared to corresponding period of 2021-22. Comparing with normal sown area(average of
the last five years), the increase is to the tune of 13.71% from 633.80 to 720.68 lakh hectares.
The increase in area is across all crops, - highest being in rice. Out of 22.71 lakh hectares
increase in all Rabi crops, increase in rice area is 11.20 lakh hectares from 35.05 lakh
hectares in 2021-22 to 46.25 lakh hectares in 2022-23. However, this is lower than normal
sown area of 47.71 lakh hectares. Maximum increase in area under rice is in states of
Telangana and West Bengal.

Area under oilseeds increased by 7.31% from 102.36 lakh hectares during 2021-22 to 109.84
lakh hectares this year. The increase in area under oilseeds at the rate of 7.31% is more than
double the rate of increase of 3.25% in all crops together. Rajasthan, Madhya Pradesh and
Chhattisgarh accounted for major expansion in area of oilseeds.

Rapeseed & Mustard contributed maximum in increasing oilseeds area during this Rabi
season. Mustard area increased by 6.77 lakh hectares from 91.25 lakh hectares in 2021-22 to
98.02 lakh hectares in 2022-23. Thus, out of 7.49 lakh hectares increase in area under
oilseeds, rapeseed & mustard alone accounted for 6.44 lakh hectares.

Pulse production is being focused to make country self-sufficient in these commodities. Area
under pulses increased by 0.56 lakh hectares from 167.31 to 167.86 lakh hectares. Mung
bean and lentil accounted for increase in area under pulses.

The United Nations General Assembly has declared the year 2023 as the International Year
of Millets and India is at the forefront in celebrating the event in a big way. In order to create
awareness about the benefits of millets as superfood and to meet its growing demand around
the world, the Government is promoting millet production through the NFSM-Nutri Cereals
component of National Food Security Mission programme in 212 districts of 14 states. Coarse
cum Nutri-cereals saw an increase of 2.08 lakh hectares in area under cultivation from 51.42
lakh hectares in 2021-22 to 53.49 lakh hectares in 2022-23.

SubQuestion No : 34

Q.34 Which state recorded the maximum increase in sown area of the rice crop?

Ans

/5 1. Chhattisgarh
5 2. Rajasthan
o 3. Telangana

% 4. Madhya Pradesh

Question ID : 264330128826
Status : Answered
Chosen Option : 3




Q.35

Ans

Comprehension:

Read the following passage and answer the questions given after it.

Total area sown under Rabi crops has increased by 3.25% from 697.98 lakh hectares in
2021-22 to 720.68 lakh hectares in 2022-23. This is 22.71 lakh hectares more this year
compared to corresponding period of 2021-22. Comparing with normal sown area(average of
the last five years), the increase is to the tune of 13.71% from 633.80 to 720.68 lakh hectares.
The increase in area is across all crops, - highest being in rice. Out of 22.71 lakh hectares
increase in all Rabi crops, increase in rice area is 11.20 lakh hectares from 35.05 lakh
hectares in 2021-22 to 46.25 lakh hectares in 2022-23. However, this is lower than normal
sown area of 47.71 lakh hectares. Maximum increase in area under rice is in states of
Telangana and West Bengal.

Area under oilseeds increased by 7.31% from 102.36 lakh hectares during 2021-22 to 109.84
lakh hectares this year. The increase in area under oilseeds at the rate of 7.31% is more than
double the rate of increase of 3.25% in all crops together. Rajasthan, Madhya Pradesh and
Chhattisgarh accounted for major expansion in area of oilseeds.

Rapeseed & Mustard contributed maximum in increasing oilseeds area during this Rabi
season. Mustard area increased by 6.77 lakh hectares from 91.25 lakh hectares in 2021-22 to
98.02 lakh hectares in 2022-23. Thus, out of 7.49 lakh hectares increase in area under
oilseeds, rapeseed & mustard alone accounted for 6.44 lakh hectares.

Pulse production is being focused to make country self-sufficient in these commodities. Area
under pulses increased by 0.56 lakh hectares from 167.31 to 167.86 lakh hectares. Mung
bean and lentil accounted for increase in area under pulses.

The United Nations General Assembly has declared the year 2023 as the International Year
of Millets and India is at the forefront in celebrating the event in a big way. In order to create
awareness about the benefits of millets as superfood and to meet its growing demand around
the world, the Government is promoting millet production through the NFSM-Nutri Cereals
component of National Food Security Mission programme in 212 districts of 14 states. Coarse
cum Nutri-cereals saw an increase of 2.08 lakh hectares in area under cultivation from 51.42
lakh hectares in 2021-22 to 53.49 lakh hectares in 2022-23.

SubQuestion No : 35

On which of the following crops, is the Indian Government specially focussing this
year?

X 1. rice

o 2. millets
< 3. oilseeds
& 4. pulses

Question ID : 264330128827
Status : Answered
Chosen Option : 4




Comprehension:

Read the following passage and answer the questions given after it.

Total area sown under Rabi crops has increased by 3.25% from 697.98 lakh hectares in
2021-22 to 720.68 lakh hectares in 2022-23. This is 22.71 lakh hectares more this year
compared to corresponding period of 2021-22. Comparing with normal sown area(average of
the last five years), the increase is to the tune of 13.71% from 633.80 to 720.68 lakh hectares.
The increase in area is across all crops, - highest being in rice. Out of 22.71 lakh hectares
increase in all Rabi crops, increase in rice area is 11.20 lakh hectares from 35.05 lakh
hectares in 2021-22 to 46.25 lakh hectares in 2022-23. However, this is lower than normal
sown area of 47.71 lakh hectares. Maximum increase in area under rice is in states of
Telangana and West Bengal.

Area under oilseeds increased by 7.31% from 102.36 lakh hectares during 2021-22 to 109.84
lakh hectares this year. The increase in area under oilseeds at the rate of 7.31% is more than
double the rate of increase of 3.25% in all crops together. Rajasthan, Madhya Pradesh and
Chhattisgarh accounted for major expansion in area of oilseeds.

Rapeseed & Mustard contributed maximum in increasing oilseeds area during this Rabi
season. Mustard area increased by 6.77 lakh hectares from 91.25 lakh hectares in 2021-22 to
98.02 lakh hectares in 2022-23. Thus, out of 7.49 lakh hectares increase in area under
oilseeds, rapeseed & mustard alone accounted for 6.44 lakh hectares.

Pulse production is being focused to make country self-sufficient in these commodities. Area
under pulses increased by 0.56 lakh hectares from 167.31 to 167.86 lakh hectares. Mung
bean and lentil accounted for increase in area under pulses.

The United Nations General Assembly has declared the year 2023 as the International Year
of Millets and India is at the forefront in celebrating the event in a big way. In order to create
awareness about the benefits of millets as superfood and to meet its growing demand around
the world, the Government is promoting millet production through the NFSM-Nutri Cereals
component of National Food Security Mission programme in 212 districts of 14 states. Coarse
cum Nutri-cereals saw an increase of 2.08 lakh hectares in area under cultivation from 51.42
lakh hectares in 2021-22 to 53.49 lakh hectares in 2022-23.

SubQuestion No : 36

Q.36 The main theme of the passage is

Ans

o 1. increase in the area of Rabi crops in 2022-23
/< 2. increase in the production of pulses
/< 3. area under rabi crop in last five years

X 4. increase in the area of oilseeds like mustard

Question ID : 264330128825
Status : Answered
Chosen Option : 1




Comprehension:

Read the following passage and answer the questions given after it.

Total area sown under Rabi crops has increased by 3.25% from 697.98 lakh hectares in
2021-22 to 720.68 lakh hectares in 2022-23. This is 22.71 lakh hectares more this year
compared to corresponding period of 2021-22. Comparing with normal sown area(average of
the last five years), the increase is to the tune of 13.71% from 633.80 to 720.68 lakh hectares.
The increase in area is across all crops, - highest being in rice. Out of 22.71 lakh hectares
increase in all Rabi crops, increase in rice area is 11.20 lakh hectares from 35.05 lakh
hectares in 2021-22 to 46.25 lakh hectares in 2022-23. However, this is lower than normal
sown area of 47.71 lakh hectares. Maximum increase in area under rice is in states of
Telangana and West Bengal.

Area under oilseeds increased by 7.31% from 102.36 lakh hectares during 2021-22 to 109.84
lakh hectares this year. The increase in area under oilseeds at the rate of 7.31% is more than
double the rate of increase of 3.25% in all crops together. Rajasthan, Madhya Pradesh and
Chhattisgarh accounted for major expansion in area of oilseeds.

Rapeseed & Mustard contributed maximum in increasing oilseeds area during this Rabi
season. Mustard area increased by 6.77 lakh hectares from 91.25 lakh hectares in 2021-22 to
98.02 lakh hectares in 2022-23. Thus, out of 7.49 lakh hectares increase in area under
oilseeds, rapeseed & mustard alone accounted for 6.44 lakh hectares.

Pulse production is being focused to make country self-sufficient in these commodities. Area
under pulses increased by 0.56 lakh hectares from 167.31 to 167.86 lakh hectares. Mung
bean and lentil accounted for increase in area under pulses.

The United Nations General Assembly has declared the year 2023 as the International Year
of Millets and India is at the forefront in celebrating the event in a big way. In order to create
awareness about the benefits of millets as superfood and to meet its growing demand around
the world, the Government is promoting millet production through the NFSM-Nutri Cereals
component of National Food Security Mission programme in 212 districts of 14 states. Coarse
cum Nutri-cereals saw an increase of 2.08 lakh hectares in area under cultivation from 51.42
lakh hectares in 2021-22 to 53.49 lakh hectares in 2022-23.

SubQuestion No : 37

Q.37 Match the following crops with the area.
Crop area in 2022-23
a. millets 1. 98.02 lakh hectares
b. pulses 2. 53.49 lakh hectares
c. mustard 3. 167.86 lakh hectares

Ans X 1.a-1,b-3,c-2
X 2.a-2,b-1,¢c3
o 3.a-2,b-3, c-1
X 4.a-3,b-1,c-2

Question ID : 264330128828
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions given after it.

Amidst a maze of rocks tucked in the Aravalli mountain ranges of Haryana, a team of
archaeologists discovered cave paintings they believe belong to the Upper Palaeolithic age.
The cave paintings have been discovered just outside the national capital and a stone’s throw
away from a holy grove called Mangar Bani- the region’s only surviving patch of primary
forest.

While the residents of the villages have been familiar with the paintings for ages, the Haryana
government’s museum and archaeology department took note of them just recently.

A fact-finding team was sent to the area in the last week of June. The team came across cave
paintings comprising images of human figurines, animals, foliage, and geometric drawings.
While some have paled over time, others are still very visible. They also discovered rock art
and open-air ceremonial sites.

Banani Bhattacharyya, deputy director of the department of archaeology and museums
informed, “So far, cave paintings in Delhi-NCR have only been found here. The paintings are
yet to be dated but at least some of them belong to the Upper Palaeolithic period in all
likelihood. We are viewing the paintings in continuation with the Soanian culture which has
been found in Shivalik hills, Narmada and Aravallis.”

Most of the cave paintings found were in ochre colour, but some were in white. As per
experts, cave paintings in white are usually from a later stage (early contemporary era), while
Stone Age paintings are more often than not in ochre. “Stone age paintings generally use red
and ochre colours. Stones of these colour used to be available locally and inhabitants
crushed the stones for preparing the colour for paintings,” added Bhattacharyya.

The Upper Paleolithic Age began around 40,000 years ago and lasted till around 10,000
years ago. While yet to be established through archaeological dating, Bhattacharyya says the
Mangar cave art is 20,000-40,000 years old. Bhattacharyya claimed that the discovery is
extremely significant. “Starting from the Lower Palaeolithic to Middle Palaeolithic then Upper
Palaeolithic, we see the evolution here. We have found significant remains from Lower
Palaeolithic till Middle and Upper Palaeolithic period too,” she explained. “Though tools from
the Palaeolithic Age have been identified earlier in parts of the Aravallis, it is for the first time
that cave paintings and rock art of a large magnitude have been found in Haryana,” she
added.

SubQuestion No : 38
Q.38 Which of the following statement is NOT correct according to the passage?
Ans o’ 1. The paintings in red belong to early contemporary era.
/5 2. The paintings comprise images of human figurines, animals, foliage, and geometric
drawings.

25 3. The cave men crushed the locally available stones for preparing the colour for
paintings.

X 4. The Mangar cave art is 20,000-40,000 years old.




Comprehension:

Read the following passage and answer the questions given after it.

Amidst a maze of rocks tucked in the Aravalli mountain ranges of Haryana, a team of
archaeologists discovered cave paintings they believe belong to the Upper Palaeolithic age.
The cave paintings have been discovered just outside the national capital and a stone’s throw
away from a holy grove called Mangar Bani- the region’s only surviving patch of primary
forest.

While the residents of the villages have been familiar with the paintings for ages, the Haryana
government’s museum and archaeology department took note of them just recently.

A fact-finding team was sent to the area in the last week of June. The team came across cave
paintings comprising images of human figurines, animals, foliage, and geometric drawings.
While some have paled over time, others are still very visible. They also discovered rock art
and open-air ceremonial sites.

Banani Bhattacharyya, deputy director of the department of archaeology and museums
informed, “So far, cave paintings in Delhi-NCR have only been found here. The paintings are
yet to be dated but at least some of them belong to the Upper Palaeolithic period in all
likelihood. We are viewing the paintings in continuation with the Soanian culture which has
been found in Shivalik hills, Narmada and Aravallis.”

Most of the cave paintings found were in ochre colour, but some were in white. As per
experts, cave paintings in white are usually from a later stage (early contemporary era), while
Stone Age paintings are more often than not in ochre. “Stone age paintings generally use red
and ochre colours. Stones of these colour used to be available locally and inhabitants
crushed the stones for preparing the colour for paintings,” added Bhattacharyya.

The Upper Paleolithic Age began around 40,000 years ago and lasted till around 10,000
years ago. While yet to be established through archaeological dating, Bhattacharyya says the
Mangar cave art is 20,000-40,000 years old. Bhattacharyya claimed that the discovery is
extremely significant. “Starting from the Lower Palaeolithic to Middle Palaeolithic then Upper
Palaeolithic, we see the evolution here. We have found significant remains from Lower
Palaeolithic till Middle and Upper Palaeolithic period too,” she explained. “Though tools from
the Palaeolithic Age have been identified earlier in parts of the Aravallis, it is for the first time
that cave paintings and rock art of a large magnitude have been found in Haryana,” she
added.

SubQuestion No : 39

Q.39 The archaeological findings in the Mangar Forest consist of all the following except

Ans

< 1. rock art

X 2. ceremonial sites
#< 3. cave paintings
o 4. tools




Q.40

Ans

Comprehension:

Read the following passage and answer the questions given after it.

Amidst a maze of rocks tucked in the Aravalli mountain ranges of Haryana, a team of
archaeologists discovered cave paintings they believe belong to the Upper Palaeolithic age.
The cave paintings have been discovered just outside the national capital and a stone’s throw
away from a holy grove called Mangar Bani- the region’s only surviving patch of primary
forest.

While the residents of the villages have been familiar with the paintings for ages, the Haryana
government’s museum and archaeology department took note of them just recently.

A fact-finding team was sent to the area in the last week of June. The team came across cave
paintings comprising images of human figurines, animals, foliage, and geometric drawings.
While some have paled over time, others are still very visible. They also discovered rock art
and open-air ceremonial sites.

Banani Bhattacharyya, deputy director of the department of archaeology and museums
informed, “So far, cave paintings in Delhi-NCR have only been found here. The paintings are
yet to be dated but at least some of them belong to the Upper Palaeolithic period in all
likelihood. We are viewing the paintings in continuation with the Soanian culture which has
been found in Shivalik hills, Narmada and Aravallis.”

Most of the cave paintings found were in ochre colour, but some were in white. As per
experts, cave paintings in white are usually from a later stage (early contemporary era), while
Stone Age paintings are more often than not in ochre. “Stone age paintings generally use red
and ochre colours. Stones of these colour used to be available locally and inhabitants
crushed the stones for preparing the colour for paintings,” added Bhattacharyya.

The Upper Paleolithic Age began around 40,000 years ago and lasted till around 10,000
years ago. While yet to be established through archaeological dating, Bhattacharyya says the
Mangar cave art is 20,000-40,000 years old. Bhattacharyya claimed that the discovery is
extremely significant. “Starting from the Lower Palaeolithic to Middle Palaeolithic then Upper
Palaeolithic, we see the evolution here. We have found significant remains from Lower
Palaeolithic till Middle and Upper Palaeolithic period too,” she explained. “Though tools from
the Palaeolithic Age have been identified earlier in parts of the Aravallis, it is for the first time
that cave paintings and rock art of a large magnitude have been found in Haryana,” she
added.

SubQuestion No : 40

Most of the cave paintings found in Mangar forest area in Haryana are in which
colour?

X 1. white
X 2. black
< 3. red

o 4. ochre




Comprehension:

Read the following passage and answer the questions given after it.

Amidst a maze of rocks tucked in the Aravalli mountain ranges of Haryana, a team of
archaeologists discovered cave paintings they believe belong to the Upper Palaeolithic age.
The cave paintings have been discovered just outside the national capital and a stone’s throw
away from a holy grove called Mangar Bani- the region’s only surviving patch of primary
forest.

While the residents of the villages have been familiar with the paintings for ages, the Haryana
government’s museum and archaeology department took note of them just recently.

A fact-finding team was sent to the area in the last week of June. The team came across cave
paintings comprising images of human figurines, animals, foliage, and geometric drawings.
While some have paled over time, others are still very visible. They also discovered rock art
and open-air ceremonial sites.

Banani Bhattacharyya, deputy director of the department of archaeology and museums
informed, “So far, cave paintings in Delhi-NCR have only been found here. The paintings are
yet to be dated but at least some of them belong to the Upper Palaeolithic period in all
likelihood. We are viewing the paintings in continuation with the Soanian culture which has
been found in Shivalik hills, Narmada and Aravallis.”

Most of the cave paintings found were in ochre colour, but some were in white. As per
experts, cave paintings in white are usually from a later stage (early contemporary era), while
Stone Age paintings are more often than not in ochre. “Stone age paintings generally use red
and ochre colours. Stones of these colour used to be available locally and inhabitants
crushed the stones for preparing the colour for paintings,” added Bhattacharyya.

The Upper Paleolithic Age began around 40,000 years ago and lasted till around 10,000
years ago. While yet to be established through archaeological dating, Bhattacharyya says the
Mangar cave art is 20,000-40,000 years old. Bhattacharyya claimed that the discovery is
extremely significant. “Starting from the Lower Palaeolithic to Middle Palaeolithic then Upper
Palaeolithic, we see the evolution here. We have found significant remains from Lower
Palaeolithic till Middle and Upper Palaeolithic period too,” she explained. “Though tools from
the Palaeolithic Age have been identified earlier in parts of the Aravallis, it is for the first time
that cave paintings and rock art of a large magnitude have been found in Haryana,” she
added.

SubQuestion No : 41
Q.41 The cave paintings found in Aravalli hills are significant mainly because
Ans X 1. they have been discovered just outside the national capital, Delhi

/5 2. they are found in such a large magnitude for the first time.
o 3. they depict the evolution from Lower to Upper Palealithic period.

2 4. they are the only prehistoric cave paintings found in Aravalli Hills.




Q.42
Ans

Comprehension:

Read the given passage and answer the questions that follow.

My grandmother, like everybody’s grandmother, was an old woman. She had been old and
wrinkled for the twenty years that | had known her. People said that she once had been young
and pretty and had even had a husband, but that was hard to believe. My grandfather’s
portrait hung above the mantelpiece in the drawing room. He wore a big turban and loose
fitting clothes. His long, white beard covered the best part of his chest and he looked at least
a hundred years old. He did not look the sort of person who would have a wife or children. He
looked as if he could only have lots and lots of grandchildren. As my grandmother being
young and pretty, the thought was almost revolting. She often told us of the games she used
to play as a child. That seemed quite absurd and undignified on her part and we treated it like
the fables of the Prophets she used to tell us.

SubQuestion No : 42
Select the most appropriate inference drawn from the passage.

«” 1. The author looked upon his grandmother as an old woman like every grandmother.
X 2. People said that the grandmother was pretty.
/< 3. Grandmother loved to talk of her childhood.

< 4. Grandmother had a husband.

Comprehension:

Read the given passage and answer the questions that follow.

My grandmother, like everybody’s grandmother, was an old woman. She had been old and
wrinkled for the twenty years that | had known her. People said that she once had been young
and pretty and had even had a husband, but that was hard to believe. My grandfather’s
portrait hung above the mantelpiece in the drawing room. He wore a big turban and loose
fitting clothes. His long, white beard covered the best part of his chest and he looked at least
a hundred years old. He did not look the sort of person who would have a wife or children. He
looked as if he could only have lots and lots of grandchildren. As my grandmother being
young and pretty, the thought was almost revolting. She often told us of the games she used
to play as a child. That seemed quite absurd and undignified on her part and we treated it like
the fables of the Prophets she used to tell us.

SubQuestion No : 43

Q.43 Select the most appropriate fact from the given options.

Ans

25 1. The author and grandma lived for twenty years.
o 2. The author was twenty when grandma died.
25 3. Grandma was twenty years old.

/X 4. The author was twenty years old when he wrote the story.




Comprehension:

Read the given passage and answer the questions that follow.

My grandmother, like everybody’s grandmother, was an old woman. She had been old and
wrinkled for the twenty years that | had known her. People said that she once had been young
and pretty and had even had a husband, but that was hard to believe. My grandfather’s
portrait hung above the mantelpiece in the drawing room. He wore a big turban and loose
fitting clothes. His long, white beard covered the best part of his chest and he looked at least
a hundred years old. He did not look the sort of person who would have a wife or children. He
looked as if he could only have lots and lots of grandchildren. As my grandmother being
young and pretty, the thought was almost revolting. She often told us of the games she used
to play as a child. That seemed quite absurd and undignified on her part and we treated it like
the fables of the Prophets she used to tell us.

SubQuestion No : 44
Q.44 Select an appropriate title for the given passage.
Ans X 1. Grandmothers

X 2. My Grandfather
% 3. The Grandchildren
" 4. My Grandmother

Question ID : 264330128920
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and answer the questions that follow.

My grandmother, like everybody’s grandmother, was an old woman. She had been old and
wrinkled for the twenty years that | had known her. People said that she once had been young
and pretty and had even had a husband, but that was hard to believe. My grandfather’s
portrait hung above the mantelpiece in the drawing room. He wore a big turban and loose
fitting clothes. His long, white beard covered the best part of his chest and he looked at least
a hundred years old. He did not look the sort of person who would have a wife or children. He
looked as if he could only have lots and lots of grandchildren. As my grandmother being
young and pretty, the thought was almost revolting. She often told us of the games she used
to play as a child. That seemed quite absurd and undignified on her part and we treated it like
the fables of the Prophets she used to tell us.

SubQuestion No : 45

Q.45 Select the most appropriate ANTONYM of the given word.
Revolting

Ans ¢ 1. Attractive
75 2. Rebel
2% 3. Unpleasant
X 4. Peace

Question ID : 264330128923
Status : Answered
Chosen Option : 1

Section : General Awareness




Q.1 1 aftewur F ddy A v HYT RT MR

A. TP T 91¢ B NPT ol Gl 2
B. TP §AR UIeT $1 Agferd o2 Pl gl

SWRIF & I S IR FYF T 31372
Ans .y 1 ASRBEH
XK 2. FadA
X 3.%aaB
X 4. A3RB I TAd§

Question ID : 264330121633
Status : Not Answered
Chosen Option : --

Q.2 FERifld § } I owe o Ta PrfIe el # Frfipd s gear 82
Ans X 1. UEUTdS

2. HADIY TSlIgH

X 3. Qg

X 4. g

Question ID : 264330123848
Status : Not Answered
Chosen Option : --

Q.3 TR G fowel! Jeaa & fAafafad # F 59 e &1 ulkig J9mafa ar?
Ans X 1. 9§

X 2. gemE fod s

o 3. SIE ol

X 4. gegdfoRr

Question ID : 264330109011
Status : Not Answered
Chosen Option : --

Q4 ¢ 2022 ¥ fore e R F Y F g R g = B S
-l Il
a) HEH 9T i) ¥ 2022 ¥ v T A= F TS FeoETe
b) FHHE T i) A 2022 ¥ faw xE FA9t & wISS g
c) ¥ FAR ;e i) I 2022 & Fov ve GaEw sewrdy A A
HAASS doolart
d) S7w 3= iv) a¥ 2022 ¥ faw &20 F=t & gASs FeAars
Ans X 1. a-ii, b-i, c-iv, d-ii
& 2. a-, bAii, cAiii, d-iv
«” 3. a-i, b-ii, c-iv, d-iii
& 4. a-ii, b, cAiii, d-iv

Question ID : 264330122944
Status : Answered
Chosen Option : 3




Q.5 YR AU BT HIH-9T1 ¢ I8 TaTal @ 6 T URET Arie o1 fadt oft e,
TSP Y1 ool i~ T DT STANT B B ISR 872

Ans X 1. 3G 14 (2)
X 2. TG 17 (1)
X 3. 3 T=E 16 (1)
& 4. TG 15 (2)

Question ID : 264330110575
Status : Answered
Chosen Option : 3

Q6 gﬂﬁ%ﬁﬁmmﬁqmeﬁﬁzﬁmaﬁﬁz(writ)mmﬁmmh
?
Ans 1. 3JE5G 226
X 2. 9I®3 32
X 3. 3THE 132
X 4. 31J=0¢ 143

Question ID : 264330110115
Status : Answered
Chosen Option : 1

Q.7 I ® gHNEaT g9 & forg frg & & 7un 3maxa® @2
Ans 1. SR

X 2.3

X 3.UH

X 4. ferrg

Question ID : 26433064425
Status : Answered
Chosen Option : 1

Q.8 frafafeaa ¥ @ $19 W waew A0 @ aivg f@ (Pliny the Elder) gRT foredt 718 oft?
Ans X 1. U@ 3t g TR <t

X 2. ot

3. T et

X 4.3

Question ID : 264330123889
Status : Answered
Chosen Option : 3




Q.9 T 1787 ¥ forer foraw &1 sreaa=1 fomar wan T, foras @1 T 4T % i 31 S IS9P
RE ATYHM & 1Y Tl @ 9UT SHBT UH dIYH ge TR ST Mg HI Uc Srar 82

Ans o 1. 9T &I |
X 2. 91g9d &1 |
X 3. 3@NTR! &1 |
X 4. STeed &1 g

Question ID : 264330123825
Status : Answered
Chosen Option : 1

Q.10 fFEfafEd & § S19 A FYT YR S TSR 3201 & JoH # 9l 887
(A) MR 2022 H &fFTAT 3rfeqawT B WeRT & & g a1 4 fafera st & srga
W ATdE HY W e

(B) e, 3R FATR F gaT & TR F e ¥ URA BT oHd 9¥g 3WIG (GDP)
LA

Ans X 1.%dd A

X 2.9dAMRTEB

X 3. A 3R BTH!

& 4. HIAB

Question ID : 264330121484
Status : Not Answered
Chosen Option : --

Q.11 9 1962 ¥, freA g fx} 3w 3= ARIRT (The History of Ocean Basins) USRI
e, oRM wie faadfet & Risia o1 Yaifed faran, o a1 § R Fad wRor @1
T ?
Ans X 1. 3{@hS AR (Alfred Wegener)
X 2. T2 913X (Louis Bauer)
X 3. 95l USdS 99 (George Edward Backus)

4. &3 1€ 89 (Harry Hammond Hess)

Question ID : 264330123855
Status : Not Answered
Chosen Option : ==

Q.12 Fafaf@a & § SH-11 TP ue FT 82
Ans 1. T TG AT P

7 2. GolliTd @y R

X 3. JUBR R

X 4. FuRT R

Question ID : 264330123884
Status : Answered
Chosen Option : 3




Q.13 yra #, Fufafee & & o9 w1 Rdus Tsaaun § grerifia T8 fear s waar 82
Ans 1 uF Adus

X 2. QYR f3dgew

7< 3. dfgum d=ny= fadas

X 4. SRy Iieq 3R iR fadgs et

Question ID : 264330109842
Status : Answered
Chosen Option : 1

Q.14 - ﬁ =T ﬁ 3'711

gia=t g5 &
(A) sTemTse (I) shgaem
(B) 3seF (1) sfreramsT
(C) rIar () =1

(D) areT (IV) =Rar
Ans X 1.A-IV, B-lll, C-I, D-lI

#5 2. A-ll, B-IlI, C-IV, D-I

< 3. A-ll, B-l, C-llI, D-IV

o 4. A-l, B-ll, C-IV, D-llI

Question ID : 264330121533
Status : Not Answered
Chosen Option : --

Q.15 Sgaii & fw e 1AM IS PlcaR TG & PRI I@T 41 7 $% 379 fIfe sra
Fag =T o T4 ST 8, S 3% 9o | Wew 87

Ans X 1. %IﬂﬁgET(Hemichordata)
X 2. TR (Aschelminthes)
#< 3. HIeRaBT (Mollusca)

4.3 s:i Sc (Echinodermata)

Question ID : 264330123821
Status : Not Answered
Chosen Option : ==

Q.16 yRd #, A9 & I Tar g fafamior iy &1 v sexa a8 82
Ans o 1.2022 do i axgail & Frafd &1 SR

X 2. afye vformef, e Jeaadq, aw-ie! TeRT 3R e o1 gafavui fRRar & sgHT
X 3.2022 dF GOP ¥ fafmfur 1 YaeRa Rl saTHr &1 I HH 25% BT

2 4. ISR o BT &R | g BT iy 2022 T 100 e sifiivad JSHIR Jiord fbu
S |

Question ID : 26433059318
Status : Not Answered
Chosen Option : --




Q.17 Siffegars e fpfiae STuer gRT STuer THTE 9t @i f5a af # 91 78 6, A ge
THag® & e | Te e Hid gRT Iwd fdt off yeR #t @l a1 v @ 35t
gy & uf¥ad= &1 qui Far 82

Ans 7 1.1842
X 2.1840
< 3.1844
X 4.1846

Question ID : 264330123837
Status : Not Answered
Chosen Option : --

Q.18 yguM f& Frafifad § § 919 9 sy 98 21
1. TSANTCIAR-TTEEA ST FISRITET (ICAR-Directorate of Groundnut Research) &7

=g AN | R & |
2. ITSAYIMR-AfaT 3R TR ST fA=ITed (ICAR-Directorate of Rapeseed &

Mustard Research) &T 8T HIAYY T fRE?
3. JTEHTIAR ST fITEd (ICAR-Directorate of Soybean Research) &7

g’@msa?ﬁﬁizm%l
Ans X 1.%dd13R3
X 2.Pdq 1 3R 2
X 3.PaA2 3R 3

& 4.1,23R3

Question ID : 264330121514
Status : Not Answered
Chosen Option : --

Q.19 3rqfrt & 3raRiEt v A fafewon &1 adt v w32
Ans X 1. 3faRed > Y&H il > ST T > X-fof

X 2. A AT > Xl > ger d<t > sfaad
o 3. X-THR0l > SfaRad > geH Tt > IS A
X 4. AR > g&H A > X-fpxl s s o

Question ID : 264330109880
Status : Answered
Chosen Option : 1

Q.20 YRd WPHR gRI fadar 2022 § Y T9a Aiermei A fpy g uivad= & way & Fafafaa
H A PIH-919 ST 08T 8787
A. UTa 9ufa g Tod UHTOTOS $ TS &R 6.8 URRd @ T} 7 Uferrd &% Y TS B
B. ARy ANTR® sud Qo183 IR sa1e1 SX 7.6 Ufawrd & 9ere 8 ufawrd o1 i i
%gﬁaﬁmmﬁmﬁﬁr,wm@mmmmwmam%ﬁe%wﬁ
[

Ans X 1. BITANRC
& 2. FITA IR B
X 3.A,B3RC
X 4.FIABIARC

Question ID : 264330122938
Status : Not Answered
Chosen Option : --




Q.21 Bl & Y, F&T 3 TP AT HIERAT 3R TSITHS Agal U 3 $ g 2021 & &
P TTE G BT 14 Fa1d?

Ans X 1. 8T (NISHTHA) 2.0
X 2.9 (SUGAM)

« 3. FgUr (NIPUN) YRa
X 4. 9%d (SAFAL)

Question ID : 264330123894
Status : Not Answered
Chosen Option : --

Q.22 1853 ® 93 3R 301 F i Ugel IR H GRT a4 B TS g8 (@M km H) fbat oft2
Ans X 1.25

X 2.51
% 3.38
& 4.34

Question ID : 26433099168
Status : Answered
Chosen Option : 4

Q.23 g 2011 F} FTUAT & AR Frer & A 5 I7 B yor ¥ UR A waifis 32
Ans X 1. %xd

X 2. U9d
& 3. HERIE
4. TBR

Question ID : 264330109502
Status : Answered
Chosen Option : 4

Q.24 YR A & 2022 F A=Y & wreAw | Fufa@a d§ S 5w 9en o YRd WeR
BRI AT SIoIta BT gt foa war 82
A. THRaT 9™
B. §E1 WA
C. $g Tod1 YN
D. ®Tq e

Ans X 1.FHddASRD
X 2.A,B,C3IRD
% 3.%daB, C 3R D
& 4. PAAA, B3R C

Question ID : 264330122807
Status : Not Answered
Chosen Option : --




Q.25 ifire ¥ U a7f B ugar B, SR T Srafers w9g -OH g 81
Ans X 1. @A

« 2. Teigia

X 3.1

X 4. UfcsEsS

Question ID : 26433064739
Status : Answered
Chosen Option : 2

Section : Computer Knowledge Module

U Crafafa & & e fase 71 R e e (VoU) & 59 & off e smar 7
Ans x 1. aa;a."—"ﬂ.

v 2 Fifae

X 3. T

X4 HaP

Question ID : 264330128744
Status : Answered
Chosen Option : 2

02 CraffEE & @ N T FuA eRdTE A0 F A% F o
AN X1 ety Bl W8 3T T w9 ¥ TEE 2T B
v 2 Ig TH HTEUT AR g
X o FYE TAAIF HAY F AT T TFr ¢
X4 TH §HHT AN F T H ST AT L

Question ID : 264330128781
Status : Answered
Chosen Option : 2




Q.3

T ghH The (CPU) 1 T8 W= TR 3l

Ans 1. ﬁ ';1
X2 fega X
X3 B3 BN
X4 18 FIT
Question ID : 264330128780
Status : Answered
Chosen Option : 1
Q.4 viruses are embedded in a system’s memory so it can be reactivated if the original virus is deleted.
Ans X' 1. File
X 2. Roolkit
X 3. Polymorphic
4 Resident
Question ID : 264330128734
Status : Not Answered
Chosen Option : --
Q.5 Some cookies are automatically recreated after a user has deleted them. These are called as cookies.
Ans 1. zombie
X 2. persistent
X 3. session
X 4. third party
Question ID : 264330128777
Status : Answered
Chosen Option : 4
Q.6 frafafea # & Ha-6r Biee sHhae TATE-aE 2010 Hiee ITGAET FaF (font dialog box) # I9ey
T g &7
Ans

X 1. 391 TgIshy (Double Strikethrough)
X 2. TATS 9 (Small Cap)

v 3 SFTSS FIFT g5 (Equalize Character Height)
X 4. GURREHTT (Superscript)

Question ID : 264330128693
Status : Not Answered
Chosen Option : ==




Q7 HETr F 399ET e CPU #r 8 g § I0He S 3 297 396ey FRT FEEROT
Fr Ty A T F T G S §

Ans s a-_ﬁr
X 2. ﬂ@'

73 ST
X 4 TEEH

Question ID : 264330128785
Status : Answered
Chosen Option : 1

@8 Which among the following statements is incorrect?
Ans 1. In the Navigation Pane, there is a Quick Access area.

< 2.

Navigation Pane is to enable easier navigation through Windows Explorer.

x 3.

From the Navigation pane, vou can view your computer’s file and folder structure and access files and folders.
4.

The right window of Windows Explorer is called Navigation Pane.

Q9 corrw-caE 365 1 T # TAF ¥ B TR @ IF @ &
Ans ¢1_i_:h_iq:r

X2 T

X3 Fe

X 4 WSS

a0 7 T ¥ S IR TFF § ¥ T W A

Ans o e
X2 AT ATH
x 3. d=fasy
X 4. FTTh WHE FfAc




Q11 Fde (Gmail) & v 741 $8a He 5= ¥ fov Seafofaa § & #i9 @1 Reew garar ST g@ar &7

Ans

X 1. 3T3ear38 (Outbound)
X 2 g% (Drafts)

v 3 FAST (Compose)
x4+ PfET (Settings)

Q12 wwWhich among the following ports is also known as Line Printer Port?

Ans

X 1. Video Graphic Array

« 2. Parallel
X 3. High Definition Media Interface

X 4. Display

Q13 I3 9155 (web browser) &, 35 351 Fr 92T F= ¥ v Rea@a # ¥ SF seaer iy

A X1 mET (Server)

X 2. O 51T (Page engine)

<3 'GFETEGIFI' (Search Engine)

& 4 igﬂﬁTg'Glﬂ'{Rendering engine)
s I AICIRIST FAROT & &F & off ST S1ar B
Ans o S

X2 TEa=r

¢ 3 I

X4 e




Q15 Trafaf@ag & @ 9 & haee TATE-USAS 365 H 39aey Hy (Math) 3t feoatafess (trigonometric)
G B7?

AnS X 1. afferee Beee (Logical function)
v 2. TdTy waRlF (ABS function)
X 5 FEATETe HFA (Financial function)

X 4 TFET BFUA (Text function)

Q.16 is a type of dedicated file storage device that provides local-area network (LAN) users with centralized,
consolidated disk storage through a standard Ethernet connection.

Ans 1. Network Attached Storage (NAS)
# 2. Solid-State Drive (SSD)

# 3. USB Sticks
/< 4. USB Hard Drives

QA7 37 Fzo W T I F gFAS w4 F O Gmlefge § @ e S aitwe 1 3w
T 2

AN 1 Grter + |
X2 I + B
v 3 @arel + D
X4 g + N




Q.18 wmsword 2010 %la:umgaan (Quick Access Toolbar) *Hﬁﬁﬁmﬁ?m'ﬂﬁ@ WW%@'P

p: e 7o @ (Quick Access Toolbar)  Biee &9 & B (Save), 3T 5 (Undo), 3R 5 (Redo) Tea BT & |

Q: 79 TEH ZEA (Quick Access Toolbar) H 2o ¥ & F€ (Cut), 317 § (Undo), 3T I 5 (Redo) FeT g 1

R: 3T e THFET T (Quick Access Toolbar) TR #IT et set e wenct €1
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